

□□1

次の□にあてはまる数をかきましょう。

①  $(10 + 6) \times 9 = (10 \times \square) + (6 \times \square)$

②  $(40 - 5) \times 8 = (\square \times 8) - (\square \times 8)$

③  $(2 + 7) \times 13 = (2 \times \square) + (7 \times \square)$

④  $(10 \times 8) + (3 \times 8) = (\square + \square) \times 8$

⑤  $(82 \times 5) - (2 \times 5) = (82 - 2) \times \square$

□□2

次の□にあてはまる数をかき、つづきの計算をして答えをもとめましょう。

①  $(84 \times 7) - (74 \times 7)$   
 $= (\square - \square) \times 7$

②  $(46 \times 37) + (54 \times 37)$   
 $= (46 + 54) \times \square$

